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[> HEH 351.68cm?

(97159 gHe] Wol) = (AF) x3.14x (¥&°I)
= (8 x 3.14) x 14 = 351.68( cm?)
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2+3+3+1=9(1M)




A7} 43.96 cm ©] 2, F1]7F 461.58 cm® Q1 Y7]5 2] 0|5 F5HA|
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ch: cm

>
[> el 3cm

B ~
HA Fol& o7 SJeiA B2 F o] Aol & Yolof gt
43.96 + 3.14 + 2 = 7(cm)

7159 =0l & Dcma} sl

(31])=7x7x3.14 x| | = 461.58

153.86 x| | = 461.58

[ ]=1461.58 = 153.86 = 3(cm)
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F. 653.12cm?

ol w2 52] Zol& [ Jeme} st
(Fa)=[ |x[ |x3.14x 6 = 1205.76

[ Ix[ ]=1205.76 = 6 + 3.14 = 64

(] Hol)=8x2x3.14 x 13 = 653.12(cm?)
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ch: cm?

SHES Bo BHoR A2 Tl : YA
= A} o] Yo]=8 x 8 = 64(cm?
FAF F2Qd JHoZ (2 b L TH Y

= YW 29 Yol
=4 x4x3.14 = 50.24( cm?)
wrakA] Yol o] 2k 64 — 50.24 = 13.76( cm?) AUt}




